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Please watch the online classes and note down it.Then answer the following questions
https://youtu.be/eYWN-j5bl4U

https://youtu.be/xHSo006DPmMJ0O

https://youtu.be/NWXb7907850

1)Two students appeared at an examination. One of them secured 9 marks more than the other and 1 point

his marks was 56% of the sum of their marks. The marks obtained by them are? *

() A.39,30
() B.41,32
(® C.42,33
() D.43,34

2) A fruit seller had some apples. He sells 40% apples and still has 420 apples. Originally, he had? * 1 point

() A.588apples
() B.600 apples
() C.672apples

(® D.700 apples

3)What percentage of numbers from 1 to 70 have 1 or 9 in the unit's digic? * 1 point

() AT
() B.14
@ c.20
() D.21


https://www.google.com/url?q=https://youtu.be/eYWN-j5bl4U&sa=D&ust=1585838720962000&usg=AFQjCNHuUCyDO3lr4fuaFRJdDe6NC05sBw
https://www.google.com/url?q=https://youtu.be/xHSoo6DPmJ0&sa=D&ust=1585838720962000&usg=AFQjCNHeX4qIMCKyQ7_Ngdg6Kj1-TUWoAQ
https://www.google.com/url?q=https://youtu.be/NWXb79oZ850&sa=D&ust=1585838720962000&usg=AFQjCNGsiMkrl0ENmpPBT7LnQTqCv2KnMg

4) A student multiplied a number by 3/5instead of 5/3 . What is the percentage error in the 1 point

calculation? *

() A34%
() B.44%
() C.54%
(® D.64%

5)In an election between two candidates, one got 55% of the total valid votes, 20% of the votes were 1 point
invalid. If the total number of votes was 7500, the number of valid votes that the other candidate

got, was?

® A.2700
() B.2900
() c.3000
() D.3100

6)Three candidates contested an election and received 1136, 7636 and 11628 votes respectively. What 1 point

percentage of the total votes did the winning candidate get? *

® A.57%
() B.60%
() C.65%
() D.90%



7)Gauri went to the stationers and bought things worth Rs. 25, out of which 30 paise went on sales 1 point

tax on taxable purchases. If the tax rate was 6%, then what was the cost of the tax free items? *

() ARs.15

() B.Rs.15.70

(® C.Rs.19.70

() D.Rs.20

8)Rajeev buys good worth Rs. 6650. He gets a rebate of 6% on it. After getting the rebate, he pays 1 point

sales tax @ 10%. Find the amount he will have to pay for the goods?

(® A.Rs.6876.10
() B.Rs.6999.20
() C.Rs.6654

() D.Rs.7000

9)The population of a town increased from 1,75,000 tO 2,62,500 in a decade. The average percent 1 point

increase of population per year is? *

() A 437%
® B.5%
() c.6%
() D.8.75%



10)Two friends, Akash & Beenu had some candies each. One of them had 15 candies more than the 1 point
other. The candies with Akash was 60% of the total candies with them. How many candies did each

have? *

() A 40,25
() €.4530
(® B.47,32
() D.49,34

11)In ABC College, 63% of students are less than 20 years of age. The number of students more than 1 point
20 years of age is 2/3 of number of students of 20 years of age which is 42. What is the total number

of students in the ABC College? *

() A75
() B90O
() c130
(® D200

12)A student erroncously multiplied a number by 2/5 instead of 5/2What is the percentage error in 1 point

the calculation? *

() A24%
() B54%
() c74%
(® D84%



13)The sum of the first six terms of an AP is 48 and the common difference is 2. What is the 4th 1 point

term? *

® A2400
() B2700
() €3200
() D2100

14) Three candidates, Ajay, Bijoy & Chandu contested an election and received 1800, 3300 and votes 1 point

3900 respectively. What percent of the total votes did A get? *

® A.20%
() B.40%
() C.45%
() D.70%

15)The total population of a village increased from 1,80,00 to 22, 500 in a decade. The average 1 point

percentage increase of population per year of that village is? *

() A.2.37%
® B.2.5%
() C3.6%

O D non of the above



16)A fruit seller had some apples. He sells 40% apples and still has 420 apples. Originally, he had? * 1 point

() A.588apples
O B. 600 apples
O C. 672 apples

@ D. 700 apples

17)In a certain school, 20% of students are below 8 years of age. The number of students above 8 1 point
years of age is 2/3 of the number of students of 8 years of age which is 48. What is the total number

of students in the school? *

() AT72

B. 80
C.120
D. 150

E. 100

@ O OO

18)Three candidates contested an election and received 1136, 7636 and 11628 votes respectively. 1 point

What percentage of the total votes did the winning candidate get? *

® A.57%
() B.60%
() C.65%
() D.90%



19) The population of a town increased from 1,75,000 to 2,62,500 in a decade. The average percent 1 point

increase of population per year is? *

() A 437%
@® B.5%
() C.6%
() D.8.75%

20)What percent of 120 are 9o? * 1 point

() 25%
() 50%
® 75%
() 33%

21)After decreasing 24% in the price of an article costs Rs.g12. Find the actual cost of an article? * 1 point

() 1400
() 1300
() 1000
@® 1200



22)How much is 80% of 40 is greater than 4/5 of 257 * 1 point

() s
@ 12

23)40% of a number is more than 20% of 650 by 190. Find the number? * 1 point

@® 800
() 600
() 100

O Non of the above

24)60% of a number is added to 120, the result is the same number. Find the number? * 1 point

() 200
() 400
@® 300
() 500



25)40 is subtracted from 60% of a number, the result is 50. Find the number? * 1 point

() 100
() 159
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